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Physiology

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 630680700250 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a part of a dorsal cavity?
Options :

1. ¥ Abdominal cavity

2. @ Pclvic cavity

3. % Thoracic cavity

4. <7 Spinal cavity

Question Number : 1 Question Id : 630680700250 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PRI & 1 8 81 1 7T 32
Options :

1. ¥ IR gl

2. % TR

3. % 9 Rl

4. V THES TRl

Question Number : 2 Question Id : 630680703366 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The electron flow in the electron transport chain results in the pumping of protons from the matrix into the_ .
Options :
1. ¥ Cytoplasm
2. ¥ Mitochondrial outer membrane
3. ¢/ Intermembrane space
4. 3 Matrix

Question Number : 2 Question Id : 630680703366 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gAaC I Uikag Rae § 3ade i Uale & URUIRaw g Ataq dWeH &l H Uy fhar o |
Options :

1. % DIRBI G

2. % YD STg ferea!

3. / JfRfed arg

4. % ARw

Question Number : 3 Question Id : 630680700092 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :
Fibrinogen helps in

Options :

1. 7 blood clotting

2. % transport

3. ¥ maintaining blood pressure

4

. % maintaining blood volume

Question Number : 3 Question Id : 630680700092 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BIgiSoH FHee ar gl
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Options :
1. 7 I DT YFDT
2. % URaed
3. @ YA §U 9T
4. % & B AR L G

Question Number : 4 Question Id : 630680700172 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A characteristic of afibrinogenemiaisthe ___ .
Options ¢

1. ¢ Absence of circulating fibrinogen

2. % Circulating fibrinogen is reduced in quantity and is functionally abnormal
3.
4

©

Reduced levels of circulating fibrinogen

b

Circulating fibrinogen is dysfunctional

Question Number : 4 Question Id : 630680700172 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

URpfAeAtT S te QA B

Options :

1.  UREEARY Brgfomer &1 srgafeufa

. % RN BN 31 A B 81 STl 8§ 3R didd U 9 & g1 ol §
. % ORIAR] BEferoH & WR §

2
3
4

Question Number : 5§ Question Id : 630680703370 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which is NOT a symptom associated with Crohn's disease?
Options :
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1. +7 Weight gain
 Weight loss

2.
3. ¥ Diarrhoca
4.

©

Abdominal pain

Question Number : 5 Question Id : 630680703370 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DI I SIE A7 ST W& TE

Options :
1. 7 o ggl
2. % guH YeHl
3.8 W
4. % Yedad

Anatomy
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 6 Question Id : 630680700254 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

‘Which of the following is not one of the four mechanisms for temperature regulation?
Options :

1. ¥ Radiation

2. ¥ Conduction

3.

©

Evaporation
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4. < Respiration

Question Number : 6 Question Id : 630680700254 Ts Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofafad 7 9 o 91 avEE R & IR G H S T 6 S
Options :

1. % fafdor

2. 8 e

3. & iRl

4. <7 T

Question Number : 7 Question Id : 630680700256 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Where does a neuron receive input from other cells?
Options :

1. % Axon

2. % Soma

3. % Cell body

4. <7 Dendrite

$

Question Number : 7 Question Id : 630680700256 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH AABTHIIDT 3 HIRIBIST F 3T g o UIed BT 32
Options :

1. % 3f&dg

<>
«

2:
3. % BITIWR
4. gftrept
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Question Number : 8 Question Id : 630680703372 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

The contraction phase of heart which leads to the ejection of blood into the arteries is called__ .
Options :

1. ¥ Ventricular repolarization

N

. ¥ Atrial depolarization
3. <7 Systole
4. ¥ Diastole

Question Number : 8 Question Id : 630680703372 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T &1 Wra TR S i & o & e a9 SR A ST R, Fer o 2

Question Number : 9 Question Id : 630680703373 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Name the reflex action in which the flexer muscle contracts and the extensor muscle relax in withdrawing limb?
Options :

1. ¢ Crossed extensor reflex

2. ¥ Golgi tendon reflex

3. % Flexor reflex
4

©

Withdrawal reflex
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Question Number : 9 Question Id : 630680703373 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 faad! o o1 A Jarsy o raaR Aol Riged! § 3R TauewR aigust oi &1 e Wiem # oR vt 82
Options :

1. 7 IRy Ufcact

2. % Tieslt T84 Ry

3. % 31T Uladd

4. % UTeRY Hidad

Question Number : 10 Question Id : 630680703375 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which structure is considered as a special nose for detecting chemical signals, facilitating the sense of smell?
Options :

1. ¥ Pharyngeal tonsil

. < Ethmoid bone

W N

. +Z Vomcronasal organ

o
. «~ Nasal conchae

S

Question Number : 10 Question Id : 630680703375 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

5T TR ) A ! BT Ul @, T B S B G $RA & Y U Ak A [T o g2
Options :

1. % e

2. % iRy

3.  HIRPHT 37

4. % RIS AY
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Demography and common health statistics

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 11 Question Id : 630680700099 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘When was the National Population Policy (NPP) established?
Options :

1. % 1978

2. 72000

3. %2002

4. %2010

Question Number : 11 Question Id : 630680700099 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS SRS AT (NPP) BT RITGT Hl 1 713 A2
Options :

1. ¥ 1978

2.<72000

3. 92002

4. %2010

Question Number : 12 Question Id : 630680700100 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the largest population size that can be supported by available resources without harming the environment, known?
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Options :
1. ¢ Carrying Capacity
2. ¥ Population outgrowth
3. ¥ Null point
4

Break-cven

©

Question Number : 12 Question Id : 630680700100 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T TS! TAREAT BT HHR FT ¢ oI TR0l BHY THUM Ugart 51 Suae Gare) g1 gaffa fovar s adwmar g2
Options :

1. 7 g &l

2. 8 SgeEn gfe

4, < IJT-%R

Question Number : 13 Question Id : 630680703378 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Following are the negative impacts of population explosion except ?
Options :

1. ¥ Unemployment

2. </ High GDP

3. 9 Poverty

4. ¥ Migration Pressure

Question Number : 13 Question Id : 630680703378 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
STESAT [Pl & TR HTd Fafiiad 82

Options :
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1. 8 SRR
2.3 GDP
3. % TRIE
4. < Yqrg- qd1d

Question Number : 14 Question Id : 630680700182 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes morbidity indicators?
Options :

1. = Total fertility rate

2. ¥ Infant mortality rate

3. ¥ Life expectancy

4, 7 Incidence rate of infectious discase

Question Number : 14 Question Id : 630680700182 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iR & & & S0ra Grde! BT 9o 3131 Jui Bl 82
Options :

1. ¥ AU R

2. % RYAG R

3. ¥ Slla G

4. <7 GshTHSD AT I 3THe X

Question Number : 15 Question Id : 630680700263 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Manifold classification is a subtype of type of statistical classification of data.
Options :

1. ¥ Geographical classification

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 1773
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2. ¥ Chronological classification
3. ¢ Qualitative classification

4. ¥ Quantitative classification

Question Number : 15 Question Id : 630680700263 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e Fiferu e ® TR & QIRSDI qHH=0 31 Th SUNBR &
Options :

1. % e arffaor

2. % BIAMHHD B0

3. < TOMTASD qHfHR0T

4, % TETHS qHIHR07

Community Health, Epidemiology and Disease Prevention

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 16 Question Id : 630680700184 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one among the following has an objective to develop mechanisms to formulate credible plans at the village level?
Options :

1. ¥ Planning commission

2. <7 NITI Aayog

3. ¥ Mudaliar committee

4. ¥ Bhore Committee
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Question Number : 16 Question Id : 630680700184 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

fFafafad & 3 g ST T TR R [3ya-ig gt JoR o34 & fore 7 fasRa s g2
Options :

1. % TISHT AN

2.7 NITI 3{GAT

3. % HelER Fffd

4. % YR ufhfa

Question Number : 17 Question Id : 630680700105 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is it called if a disease occurs regularly, habitually, and constantly affecting the population group?
Options :

1. ¥ Epidemic

. </ Endemic

. % Sporadic

AowWoN

. ¥ Pandemic

Question Number : 17 Question Id : 630680700105 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e HIs SR} Fafta TU 9, siaa SIR TR SHUS 9Ug S 1T Bt § df 38 o1 HgT oIl g2
Options :

1. ¥ HgMRI
5.
3. % fgege
4. %
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Question Number : 18 Question Id : 630680700185 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements best describes the purpose of health planning in India?
Options :

1. ¥ To restrict healthcare service access to specific demographic categories

2. 7 To meet health nceds and demands of the pcople

3. ¥ To distribute healthcare resources solely according to financial standing

4

. @ To guarantee fair dispersion of healthcare services

Question Number : 18 Question Id : 630680700185 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafoRad & 9 o1 W Sy YR H W e & Ie39 &1 Jad 33T g0 Sl 82
Options :

1. « faf¥ry sHwiRereta AT oo Wrea Ja1 ugd & ufaefia #a & fog

2. QI &) W Sagadredt $IR Al &) ORI HAT

3. ¥ IR G@HIS Ha1eHT Bl pae [l Rufd & sr7aR [9afikd & & g

4, ¥ ey Jarsf & 3Ifd e o IR A

Question Number : 19 Question Id : 630680700267 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Enteropathogenic E. coli causes-
Options :

1. ¥ Giardiasis

2. ¥ Tuberculosis

3. <7 Diarrhoea

4. 8 Listeriosis

Question Number : 19 Question Id : 630680700267 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
TRNINAS §. HIArS & HRU-
Options :
1. % S
2. % &R
3.vex
4. ¢ Rafefesnf

Question Number : 20 Question Id : 630680703385 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following levels of disease prevention involves the early detection and prompt treatment to halt the progress of a disease and prevent
further complications?

Options :

1. ¥ Primary prevention
2. ¢/ Sccondary prevention
3. ¥ Tertiary prevention

o .
4. = Quaternary prevention

Question Number : 20 Question Id : 630680703385 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁﬂaﬁgam%ﬁy%@ﬁﬁﬁﬁmwﬁﬁﬂﬁmﬁﬁﬁﬁWﬁﬂﬂ@fﬁﬂm@ﬁﬁﬁﬁ%ﬁf@ﬁawmﬁwﬁaw

Options :

1. % UIYfiyes ApUH

2.  fiias Jpum

3. % S AU

4. % IFUIP AHUH
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 15173
4/1/24, 3:54 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Maternal Health Pregnancy and Childbirth

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 21 Question 1d : 630680700110 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
are sporadic contractions and relaxation of the uterine muscle also referred to as prodromal or “false labor" pains.
Options :
1.-% Preterm labor contractions
2. % Active labor contractions
3. ¢ Braxton Hicks contractions
4

. ¥ Transition labor contractions

Question Number : 21 Question Id : 630680700110 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TR 3 HiaRkeEl & fyeqe dga SR Rifdierar § o Tig e a1 »yid vea- diet i w1 o g
Options :
1. ¥ gHIYd U9 igpad
2. ¥ ftha Ua dgad
3. e g dgpad
4. % I TIa Sgad

Question Number : 22 Question Id : 630680700189 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The biochemical process which primarily contributes to cervical ripening is the
Options :
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1. 7 Increase in water molecules intercalation
2. ¥ Decrease in hyaluronic acid content
3. % Increasc in collagen fiber alignment
4.

% Increase in dermatan sulphate

Question Number : 22 Question Id : 630680700189 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A9 IS uihar st gt 0 § Ui fiar F uRues f A e aRdtg g B
Options :

1. U 3 Sl & it A gt

2. % gARRIM® RS aneh 4 ot

3. ¥ HicioH BIFaR W0 H g

4. = gieT e A afa

Question Number : 23 Question Id : 630680700191 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the first stage of labor, which maternal system may experience temporary hyperventilation?
Options :

1. ¥ Renal system

2. % Musculoskeletal system

3. ¥ Digestive system
4

. &/ Respiratory system

Question Number : 23 Question Id : 630680700191 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TN % UgA OO b GRIF, BT Gl 1T TOM SRR SR &1 SFHd B qavdl 87

Options :

1. & g dF
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2. % URiidheprell
3. % U o
4. 7 3 el

Question Number : 24 Question Id : 630680700195 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which finding has a high positive predictive value for the diagnosis of ectopic pregnancy but may not necessarily indicate a ruptured ectopic
pregnancy?

Options :

1. ¥ Normal fallopian tubes

2. ¥ Uterine ovaries
3.
4

. </ Hemoperitoncum

©

Enlarged ovaries

Question Number : 24 Question Id : 630680700195 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

SIS THiaRNT F FAgH & e &1 1 e 3@ SeRIdS Yaigaid Je @ § dft sragad w0 3 faeia s myiaw
BT UPbd 5l & Yl 52

Options :

1. % = S o g

2. 8 YRR SER™

3. ¥ gl gof ey
4

. ganRaag

Question Number : 25 Question Id : 630680700274 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The methods to calculate paediatric doses of drug administration are:
A. Body weight method

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 18/73
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B. Body surface arca method
C. Body height method

Options :

1. ¥ Only A

2. Aand B
3.9 OnlyB

4. % A,Band C

Question Number : 25 Question Id : 630680700274 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STCIRIf T T o1 WRTeb bl 7101 ) bl fafdrat &:
A. RR 9o Y

B. *RR ¥ag &7 fafy

C. MR Grs fafy

Options :

1. ¥ AT A

2. AR B

3. % $dd B

4. % A B3RC

Question Number : 26 Question Id : 630680700275 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following may be a complication of normal pregnancy?
Options :

1. ¢ Gestational Diabetes

2. ¥ Low blood pressure

3. ¥ Cataract

4. ¥ Retinitis pigmentosa

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 19/73
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Question Number : 26 Question Id : 630680700275 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafafad # 3 o 9 amra mufawi St sifeed g1 ddwdl 82
Options :

1.  THERISRT AYAg

< DY IKE

BB

Question Number : 27 Question Id : 630680703391 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

___route of administration typically provides the fastest onset of action for a medication.
Options :

. © Subcutaneous

N =

. < Intravenous
. 8 Oral

4. ¥ Intramuscular

w

Question Number : 27 Question Id : 630680703391 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

UIRE BT AT 3 AR WR ot gar & fo SRarg &1 Ged O YHefd UeH Srdl g
Options :

1. & e

2. 7 AR

3. % s

4. % Sfq:O=ft
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Question Number : 28 Question Id : 630680700197 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

At what age does the Babinski reflex typically disappear in children?
Options :

1. % 24 months

2. <7 12 months

3. ¥ 18 months

4. % 6 months

Question Number : 28 Question Id : 630680700197 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o H afoen! Rucia SaR 1R farg org & 7 g1 offa 82
Options :

1. ¥ 24 HIg

2. 12WgH

3.8 18 TEH

4. % 6HgH

Question Number : 29 Question Id : 630680700277 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When does an infant start gaining good head control?
Options :

1. ¥ At Birth

2. <7 3rd month

3. ¥ 8th month

4. % 10th month

Question Number : 29 Question Id : 630680700277 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
& Ry B RR IR 31 =01 Tt BT I el 82
Options :
[. ¥ SFHW
2. ARRT AT
3. % 313d HEHT
4. % 1091 HET

Question Number : 30 Question Id : 630680703394 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which condition is most likely to cause when a newborn displays cyanosis, tachypnea and poor feeding?
Options :

1. ¥ Kcrnicterus

©

Polycythemia

o

2
3. ¥ Hypoglycemia
4, <7 Respiratory distress syndrome

Question Number : 30 Question Id : 630680703394 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e U Ao R AR, SHufar ok Wi SMgR &1 UeH ovdl § dl o It Ry Soa g &t gad siftid Fura gidl 82
Options :

1. 8 FsaeRy

2. % Tl
3. % grgurargHa
4. G B GAUI
Child health and Nutrition
Section type : Online
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Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 31 Question Id : 630680700279 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At the end of which week after fertilization the embryo is considered a foetus? Choose the closest option.
Options :

1. ¥ 3rd

.7 8th

AW
RN
W

N W

= =
-5

Question Number : 31 Question Id : 630680700279 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8= & 9T ford IwTg & ofd T 301 &1 Y01 I 9T &2 fdead faded 7.
Options :

1. & diER

2./ gdl

3.8 1591

4. ¥ 36d

Question Number : 32 Question Id : 630680700122 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the most appropriate feeding volume suggested for a neonate of Day 1-Day 4 age?
Options :

1. ¥ 20-40 ml/gm/day

2. <7 30-60 ml/kg/day

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 23/73
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3. % 100-120 ml/kg/day
% 150-200 ml/kg/day

$

Question Number : 32 Question Id : 630680700122 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o1 9 -4 31 311g & Fawira gy & fere Gs 718 Ted IugET SMER A 182
Options :

1. ¥ 20-40 ml/gn/f&

2. < 30-60 ml/ke/feT

3. % 100-120 mUke/fSA

4. % 150-200 ml/kg/fGA

Question Number : 33 Question Id : 630680700200 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Tympanometry assess the integrity of , structure of the ear.
Options :

. % Tympanic membrane
% Oval window

% Eustachian tube

©

Ealliad |

Cochlea

Question Number : 33 Question Id : 630680700200 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
RIS 1 ) TR, B SIS BT HAT B ¢
Options :

1. < FHUUCE Hell
2. ¥ IfSTHR fgesH!

3. % gRP! AdT
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4. ¥ B

Question Number : 34 Question Id : 630680703398 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the recommended amount of folic acid daily that reduces the risk for neural tube defects. Most prenatal vitamins contain the this
recommended amount of folic acid? Choose the closest option.

Options :

1. ¥ 40 micrograms
2. % 400 milligrams
3. ¥ 40 milligrams
4. <7 400 micrograms

Question Number : 34 Question Id : 630680703398 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

uﬁﬁﬂﬁm@sﬁaﬁmﬁaww%vﬁwmm%ﬁh@ﬂﬁmm%l i wd gd faeTfeqi & wifere this #1ag
SRR AR Bicht 82 Feean fased 9.

Options :

1. % 40 AZHIUH

2. % 400 iy

3. % 40 fdmm

4. <7 400 ATSHIUH

Question Number : 35 Question Id : 630680700283 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an indicator of complementary feeding?
Options :

1. ¥ Introduction of solid, scmi-solid, or soft foods (ISSSF)

2. % Minimum dietary diversity (MDD)

3. ¥ Minimum meal frequency (MMF)

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 2573
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4, <7 Maximum acccptable dict (MAD)

Question Number : 35 Question Id : 630680700283 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fofafad 7 9 O 9T R SER $T IS 61 82
Options :

1. ¥ 319, 31¢f-3T9 a1 A WIe Y14l o1 R (ISSSF)
2. ¥ GAqY 3MER fafdedr (MDD)

3. % YFqH HISH 3MTdf (MMF)
4

. 3 WP 3MER (MAD)
Immunization
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 36 Question Id : 630680700285 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Viral and bacterial proteins that bind simultaneously to the variable domain of beta of a T-cell receptor and the alpha chain of a class Il MHC
molecules are called

Options :

1. «7 Superantigen

2. ¥ Super antibody

3. @ Super macrophage
4. ¥ Super protcin

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 26/73
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Question Number : 36 Question Id : 630680700285 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

ammeﬁﬁaéﬁq%meﬁﬁhﬁﬁmm%@aawﬁaﬁu@ﬁmhaﬁn MHC 3{U[3 Bt 3(ethT 4 9 U 919 IS4 3, S8
EZJES I

Options :

1. & GuRUfesH

2. % fy ufereft

3. % 3fid geHarD

4. % W WA

Question Number : 37 Question Id : 630680703401 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An Ice Lined Refrigerator (ILR) maintains a temperature of
Options :

1. ¥ +2°C to +8°C.

2. % +5°C to + 10°C.

3. 9 -5°Cto- 10°C.

4. % 0°Cto+4°C.

Question Number : 37 Question Id : 630680703401 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 313 TS YMHORER (ILR) T YA 1Y 3G 3
Options :

1. 7 +2°C ¥ +8°C.

2. % +5°CH +10°C.

3. % - 5°C - 10°C.

4. % 0°c¥+4°C,
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Question Number : 38 Question Id : 630680700287 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an antigen presenting cell?
Options :

1.7 T cells

2. % Beells

3. % Dendritic cells

4

. ¥ Langerhans cells

Question Number : 38 Question Id : 630680700287 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafeRad & & & URIe IRgd 3 aTl] IS ol 52
Options :

1. T HIR®IE

2. 8 BHIRBIT

3. ¥ GHPBS DIRGTE

4. % ARG BIRGY

Question Number : 39 Question Id : 630680703403 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘What type of immunity is conferred by administering a booster shot of a vaccine?
Options :
1. +7 Active immunity
o o .
.« Passive immunity

<

2
3. ¥ Innate Immunity
4. ¥ Enhanced immunity

Question Number : 39 Question Id : 630680703403 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
farelt 1% o1 e Tite 37 ¥ o TR ot wioRen e 3t iRl 82
Options :
1. v fehg UieRen
2. % PAfspy yforan
3. % g URRen
4. % 9¢1 g3 UloRen

Question Number : 40 Question Id : 630680700288 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which type of hypersensitivity is mediated by T cells that provoke an inflammatory reaction against exogenous or endogenous antigens?
Options :

1. ¥ Type-I

2. % Type-1I

3. ¥ Type-lIL

4. <7 Type-1V

Question Number : 40 Question Id : 630680700288 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

;?ﬁii%mﬁm%awaﬂm@mﬂmﬁnmwaﬁaﬁﬁ%ﬁﬁaﬁﬁhmmhuﬁmwﬁwwﬂﬁuﬁ?ﬁmﬁﬁm

Options :

1. ¥ TIRY-1

2. ¥ CI]U-1I

3. ¥ CIQU-1II

4.2 TIRU-IV

Adolescent health

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 29173
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Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 41 Question Id : 630680700130 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What is a key feature of psycho-pathology during adolescence that differentiates it from earlier childhood disorders?
Options :

1. ¥ Increased prevalence of neurodevelopmental disorder

2. Z Emergence of mood disorders such as depression

3. <« Reduction in behavioral problems
4. % Stability in personality traits

Question Number : 41 Question Id : 630680700130 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fPRIRIaRIT & SR FAfdpTa fasi &5t wiRg fasir o € S 38 95 & Tau & [dmRI & 3ierT =t 82
Options :

1. % RISIATHCT SIS 3} e § gfs

2. 7 GG oY FAGRN Heef fapRY &1 JuRAl

3. % oUqgR Heidll grwnali # ot

4. % fddd a7 RRar

Question Number : 42 Question Id : 630680700209 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

__is the first- line pharmacological treatment for adolescents with major depressive disorder.
Options :

1. ¥ Venlafaxine

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 30/73
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2. 7 Selective serotonin reuptake inhibitors (SSRIs)
3. ¥ Fluoxetine

4. ¥ Escitalopram

Question Number : 42 Question Id : 630680700209 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WG STl AR aret fH=iRl & fore wym-ar shusdia Suar 31
Options :

1. ¥ IRl

2. < JYATHAS AR F3UeH a1 (SSRIs)

3. % TgaTeTE

4. % YRPCTAIIH

Question Number : 43 Question Id : 630680700211 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following mental health disorder is NOT caused by substance use?
Options :

. ¥ Schizophrenia
. % Personality disorder

. 7 Pathological gambling

AN

. ¥ Anxiety disorder

Question Number : 43 Question Id : 630680700211 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o & o W1 TR W PR Ae® 5o & Yo & SR8 oIl 872
Options :

1. % wAfdged

2. % HAfKIE PR
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3. v Qaitoea gan
4. % R faer

Question Number : 44 Question Id : 630680703409 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following contraceptions are considered effective and suitable for adolescents due to its long- acting nature and minimal need for
daily maintenance?

Options :

1. ¥ Emergency contraceptions
2. < Intrauterine devices

3. ¥ Condoms

4. % Birth control pills

Question Number : 44 Question Id : 630680703409 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Foafiied 7 3 1 W MRS oo d9 Td a@ HH A i TPia AR SHE R Bt gAaH STaadmdl & HROTEIR & g
TuId} 3TR Iugad [T oIl 82

Options :

1. % T MRS

2.  Siartuierd IueRu

3.8 Hel

4. % R Mieat

Question Number : 45 Question Id : 630680700293 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not one of the objectives of the Rashtriya Kishor Swasthya Karyakram?
Options :

1. ¥ Improve nutrition

2. % Improve sexual and reproductive health

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 32173
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3. <7 Affect mental health

4. ¥ Prevent injuries and violence

Question Number : 45 Question Id : 630680700293 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafed # 4 oF o g YR area SrRisH & Sexdl § 3 0 Tl 82
Options :

1. ¥ U9u & guR

2. % O Td Toi Wl B gUR

3. YRS WY W 3R

4. % 1Sl 3R e & e

Family Planning

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 46 Question Id : 630680703411 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the scope of family planning include?

Options :

1. ¥ Methods to prevent unintended pregnancies and spacing childbirth
2. % Methods only applicable to married couples

3. ¥ Only birth control methods
4

. % Only educating women about pregnancy
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Question Number : 46 Question Id : 630680703411 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

URaR e & areR # a1 e 82

Options :

1. 7 STOTEI THYRY B A TR & b 17 H SR 3@ b Wi
% faftaf ae faarfed awdfd IR Al

% ad o FEE & Wwie

. & THfer & SR H Saer Afgensi HI Rifdd o

Bowon

Question Number : 47 Question Id : 630680700135 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is not an example of barrier contraceptives?

Options :

1. ¥ Condoms

2. % Diaphragms

3.

4. <7 Copper-releasing IUDs

©

Cervical caps

Question Number : 47 Question Id : 630680700135 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frofafad 5 @ B saRide THRRIYS! 61 3areRo T8l 82
Options :

1279

2. % SaWmMH

3. % TR Far et

4. 7 BIR-REAIT 1UDs
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Question Number : 48 Question Id : 630680700217 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
is a hormonal contraceptive method involving the injection of progestin into the muscle evert three moths to prevent pregnancy.
Options :
1. % Vaginal ring
2. </ Injectable contraceptives
3. ¥ Contraceptive patch

4. ¥ Implantable rod

Question Number : 48 Question Id : 630680700217 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T g TRy fAf 3 o mufaen S Ao & g 39 7 de AR # Mo 1 $6eR e S |
Options :
1. % Qi gey
2.  Suigead THRIY®
3. 8 MRy i
4. 8 JTARUU I §&

Question Number : 49 Question Id : 630680703412 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which barrier method of contraception needs to be used with a spermicide and covers the cervix to prevent pregnancy?
Options :

1. ¥ Male condom

2. ¥ Contraceptive sponge

3. 7 Diaphragm

4. ¥ Cervical cap

Question Number : 49 Question Id : 630680703412 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
MR B g sre ARt o1 SuaeT 1o & T1Y foha ST anfu SR i &1 - & fae mufer ar & gwar 82
Options :
1. ¥ Y GBS
2. % TFRIYS W
3. < SHNhH
4, % Yaradt

Question Number : 50 Question Id : 630680700298 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
involves cutting the tubes that carry sperm from the testes to the penis.
Options :
1. ¥ Tubal ligation
. 7 Vasectomy

<3

2
3. ¥ Cervical mucus
4. < Vaginal rings

Question Number : 50 Question Id : 630680700298 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T 3 AARTBISHT 1 HleAT M § O Yeo10] I oo I {1 a6 & ot g1
Options :
1. [t e
2.7 I¥Y TqEd]

3. % THIREYET T
4, = i
Common Communicable diseases
Section type : Online
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Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 51 Question Id : 630680700219 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a symptom of bubonic plague?
Options :

1. ¥ Headache

2. % Tircdness

3./ Respiratory distress

4

. % Fever

Question Number : 51 Question Id : 630680700219 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Foffed & & 1 a1 e @ BT a8 T8l 32
Options :

1% RRad

2. % Yh

3. YEIddT

4, S gUR

Question Number : 52 Question Id : 630680703417 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following arthropod species is primarily responsible for transmitting the yellow fever virus?
Options :

1. ¥ Anopheles mosquito

2. <7 Acdes acgypti mosquito

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 37173
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3. ¥ Ixodes tick

<>

4. < Black- legged tick

Question Number : 52 Question Id : 630680703417 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofifad & 3 o1 @ smiftis uofa did SR & areRa &) weiikd o3 & i ger &0 § Rier 82
Options :

1. % TGl Heor

2. < TSIS QIoTP! AR

3. « TgHIey fee

4. % B W few

Question Number : 53 Question Id : 630680700145 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is a causative organism for chicken pox?
Options :

. 7 Varicella-zoster

2 Flavivirus

< Escherichia coli

Ealliad |

< Bordetella pertussis

Question Number : 53 Question Id : 630680700145 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafafad & § o1 a1 S A1 31 HRS Siid 82
Options :

1. & Y-SR

2. % ifdarERY

3. % IRRIfpUI BIATS
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4. % T USRI

Question Number : 54 Question Id : 630680700221 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_is the most effective method for preventing Rabies in humans following exposure.
Options :

1. ¥ Applying antiscptic ointment to the wound

2. «/ Immediate vaccination with Rabies immune globulin and Rabies vaccine

3. ¥ Administration of antibiotics

4. ¥ Cleaning the wound thoroughly with soap and water

Question Number : 54 Question Id : 630680700221 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SIS & 91 AT H Yaied &1 Ao & forg T THTE BT 3|
Options :

1. ¥ 91 R TIPS Tagd @l

2. V&I S TS SR et datiE & TTY dehI STl

3. % AN o1 U=

4. % U9 B TG IR T I ST oRE 1B HRAT

Question Number : 55 Question Id : 630680700222 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the arthropod responsible for transmitting the parasite responsible for Chagas disease.
Options :
1. ¥ Sandflics
2. 9 Lice
3. ¥ Ticks
4, <7 Triatominc bugs
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Question Number : 55 Question Id : 630680700222 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T T & o RrgR oRoid! &1 i A & for RrdigR emifdre g1
Options :
1. % AEHiE@T
2.9
3.8 few
4. <7 THCHIE 1

Question Number : 56 Question Id : 630680700304 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Which is the causative organism of Typhoid?
Options :

1. ¥ Staphylococcus aureus

2. 7 Salmonella typhi

3. % Pscudomonas acruginosa

4. ¥ Yersinia pestis

Question Number : 56 Question Id : 630680700304 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TEWIES P HRP Wi HI A 32
Options :

1. ¥ WIhbIey e

2. </ I SISl

3. % GG TRHHNT

4. % Rfar Oftey
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Question Number : 57 Question Id : 630680703418 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which is NOT a common route of transmission for Q- fever from arthropods to humans?
Options :

1. ¥ Tick bites

2. ¥ Ingestion of infected food products

3. < Dircct contact with the infected arthropods (Blood transfusion)

4. % Inhalation of contaminated acrosols

Question Number : 57 Question Id : 630680703418 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B 9T ifiig T | el § Q-SWR & <RI &1 i AN -Tel 32
Options :

1. & e dy

2. % Wenfhd WTe ITE] 7 Sfavig

3. 7 Uit SMITHIgE & w1y Hiem WU (e SMeT)

4. % g afded BT 49

Question Number : 58 Question Id : 630680700307 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a common, treatable, vaginal condition which can increase the chance of getting an STD?
Options :

1. ¥ Bacterial Vaginosis

2. ¥ Chlamydia

3. % Genital Herpes

4. % HIV AIDS

Question Number : 58 Question Id : 630680700307 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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fraferaa % 9 19 O te I, STaR 4y, i fRufd & SRR sTD 81 o1 THIaT ¢ Iadl 82
Options :
1. v SFRIRTa IR
2. & AR
3. ¥ S EIG
4. ¥ HIV AIDS

Question Number : 59 Question Id : 630680703423 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which stage of whooping cough is characterized by the intense, uncontrollable coughing that often ends in a 'whooping' sound?
Options :

1. ¥ Incubation stage

2. % Convalescent stage

3. ¢/ Paroxysmal stage

4. ¥ Catarrhal stage

Question Number : 59 Question Id : 630680703423 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STl Wil & oo =T ¥ g, S @ikl S © S srem githT @l o T gl 82
Options :

1. % SEHYT ORO0

2. % WA =RO1

3. TATI ST

4. & TISHHTE! Sfa=T

Question Number : 60 Question Id : 630680703425 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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The main type of immune cells targeted by HIVis___ .
Options :
1. ¥ Beells
2. Teells
3. ¥ NK cells

o
4. <~ Macrophagcs

Question Number : 60 Question Id : 630680703425 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIV gRT Tféd uieRen SIR@ei #I g yeR 3l
Options :

1. ¥ BBIRIBIY

2. & T HIRBIY

3. % NK PRSI

4. % JEHE DI

Non-Communicable Diseases
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 61 Question Id : 630680700149 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a common neurological disorder that occurs when the median nerve, which runs from the forearm into the palm of the hand, becomes
pressed or squeezed at the wrist.

Options :
1. ¥ Concussion
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2. < Carpal tunnel syndrome (CTS)
3. ¥ Mesothelioma

4. % Haemorrhage

Question Number : 61 Question Id : 630680700149 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

- TS A AT Heel IR & S ad gdT & Sid AT dieT, S SRITg & 814 Bt ga a9 WKk €, HaTs R gadl § 91 o gl
|

Options :

1. © g

2./ BT ed RIGH (CTS)

3. 8 AHGAEG

4. < AT

Question Number : 62 Question Id : 630680700229 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a common repetitive stress injury associated with prolonged typing in desk which may indirectly lead to accidents.
Options :
1.+ Carpal tunnel syndrome
2. ¥ Prepetellar bursitis
3. ¥ Vibration white finger
4. ¥ Mesothelioma

Question Number : 62 Question Id : 630680700229 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
I R TS GG T T3 I IS U S SFTGT o e € S Sivicel T § e 1 HRUT & T g
Options :

1.  FIUd e a g
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2. % WoeeR Qamgé RUEH
3. % U gibe It
4. % o

Question Number : 63 Question Id : 630680703428 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

___is the leading cause for blindness worldwide.
Options :

1. % Hypothyroidism

2./ Cataract

3. ¥ Hyperthyroidism

4. ¥ Dementia

Question Number : 63 Question Id : 630680703428 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g R ST T HE SRR
Options :

1. & gRUYIREfSsH

2. v Aifeafsg

3. % fggsidfhaar

4. S U

Question Number : 64 Question Id : 630680700153 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following uses ultrasound to create a picture of the heart, and diagnose CAD?
Options :

1. ¥ Chest X-ray

2. < Coronary angiogram
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3. < Echocardiogram

4. ¥ Excrcisc stress test

Question Number : 64 Question Id : 630680700153 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofifad & 9 11 gad B Bd S 3R CAD BT Far &7 F o1 Sieerid s o1 SUaiT o1 82
Options :

1. ¥ BTl BT T -X

2. % DRI TR

3. < SHIBlSUIH

4. & A G T1e0r

Question Number : 65 Question Id : 630680700233 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
gene mutation is connected to a condition causing high cholesterol and heart disease.
Options :
1. ¥ CETP gene mutation
2. <7 LDLR gene mutation
3. ¥ ADBR2 gene mutation
4. % PPARG gene mutation

Question Number : 65 Question Id : 630680700233 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S IaRae 3o BleRela SR ged 1 e H aredl R A ST 8
Options :
1. ¥ CETP SiF JdRaEd
2.+ LDLR SiH SaRaa
3. ¥ ADBR2 SfiH SdRad
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4. % PPARG S IdRad

Question Number : 66 Question Id : 630680700234 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following type of infections is NOT associated with the development of epilepsy?
Options :

1. ¥ Neurocysticercosis

. ¥ Meningitis

.7 Influenza

. ¥ Encephalitis

A owLN

Question Number : 66 Question Id : 630680700234 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foffad 7 fog yoRr o1 Gepau fonff & e d g1 22
Options :

1. 8 RS IR

2. 8 ARISH SaR

3. ST

4. % ARy

Question Number : 67 Question Id : 630680703430 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Following are the symptoms of Angina except
Options :

1. ¥ Chest pain and discomfort

2. % Sweating

3. +7 Sudden loss of hair

4. ¥ Dizzincss
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Question Number : 67 Question Id : 630680703430 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D BIgHR LSS & &0l Fufiad
Options :

1. % IR A g SR T
2. % AT 3T
3. <7 3AFS oId F&1
4. ¥ IFHI T

Question Number : 68 Question Id : 630680700158 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

Which of the following types of malnutrition describes low weight-for-height?

Options :

1. &7 Wasting

2. ¥ Stunting

3. ¥ Underweight

4

. ¥ Deficiency in vitamins and minerals

Question Number : 68 Question Id : 630680700158 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofifad 7 Q HF T UPR BT GUNT TS -SJHR-HH qoi BT qu BT 82
Options :

1. 7 3t

2. % ®len

3. @ HHTSH

4. % fyerfiq ofR Gl ot St

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 48/73

Page 24



4/1/24, 3:54 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 69 Question Id : 630680700236 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following mutations is implicated in Liddle syndrome, a rare form of inherited hypertension?
Options :

1. ¥ Mutation in the NR3C2 gene

2. </ Mutation in the SCNNIB gene

3. ¥ Mutation in the ACE genc

4. ¥ Mutation in the ABTRI gene

Question Number : 69 Question Id : 630680700236 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafife & 3 o5 SaRad Rrea Rigm & =i 8, St d=ITd S =Ty B UH GaH 0 82
Options :

1. ¥ NR3C2 ofF & Iafad=

2. </ SCNN1B oI & Iafead=

3. 8 ACE oM §f IafRadq

4. 8 ABTRI SH & IRac

Question Number : 70 Question Id : 630680700238 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The organ which is particularly affected by severe malnutrition, leading to fatty degencration and functional impairment is
Options :

1. % Spleen

2.« Liver

3. ¥ Kidneys

4. 9 Pancreas

Question Number : 70 Question Id : 630680700238 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 49/73

4/1/24, 3:54 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
Correct Marks : 1 Wrong Marks : 0
I ST S oy & & iR Huivor & guifad gian g, Forad aurgad sieruad IR $rifes g1 g1t § !

Options :

<y

] -
2.V TPd
3. % gdh
4, % ERY

National Health Programs
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 71 Question Id : 630680700240 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which organization in India is primarily responsible for implementing the National Anti- Malaria Programme?
Options :

. «/ National Vector Borne Disease Control Programme
% Indian Council of Medical Rescarch

> World Health Organization

Ministry of Health and Family Welfare

©

Sl
b2

Question Number : 71 Question Id : 630680700240 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HRA & I 1 413 AP AARan Al BRiHH B dr P F o0 g81 ¥4 3 R 82

Options :
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Question Number : 72 Question Id : 630680703436 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a key objective of National Health Programmes and Health and Family Welfare Programmes in many countries?
Options :

1. ¥ Promote industrial growth and manufacturing sectors

2. ¥ Provide funding for artistic and cultural initiatives

3. <7 Ensure access to quality healthcare services for all citizens

4. ¥ Increase morbidity

Question Number : 72 Question Id : 630680703436 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 ¥ H AP WA SdHHI SR W T4 URAR HeTul SRIhH 1 & 3539 1 6?2
Options :

1. % 3N faer ok fafafor &= 1 sgmar &

2. % FHAHD IR TG e Ugal & e fad 9o ugm FHr

3.« G AR & foT T[urariTgul e arsit ae ugd gHidd &A1

4. ¥ JUI FGIAT

Question Number : 73 Question Id : 630680700164 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A total of 22 ATIMS have been announced under the Pradhan Mantri Swasthya Suraksha Yojana out of which AIIMS are already
functional.

Options :
1. %16
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2.6

<>

3.~ 10

<>

4.« 20

Question Number : 73 Question Id : 630680700164 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T TR R IS & ded P 22 TR BN B TS 8, A ¥ AIIMS U830 9 & FRa &1
Options :

1.9 16

2.6
3.9 10
4. %20

Question Number : 74 Question Id : 630680700166 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which committee laid down the blueprint for a three-tier system to deliver healthcare at centres in India before the first national health policy?
Options :

1. ¢/ The Bhore Committee

2. ¥ The Mudaliar Committec

3. ¥ The Chadha Committee

4. % The Bajaj Committee

Question Number : 74 Question Id : 630680700166 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugell AT e i uge o A T HRd # Sl IR Wy a1 YeH R & (78 By qumel! sl SuEr qar @ Al
Options :

1. 2 YR gifd

2. % Heferr gfafa
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Question Number : 75 Question Id : 630680700241 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Suggest a key advantage of broadening cancer screening activities to include risk factor assessment and management?
Options :

1. ¥ It restricts access to cancer screening services for higher- risk populations

2. ¢ It helps to find cancer at carly stage, before the symptoms appear

3. % It leads to higher costs associated with cancer prevention

4. % It increases the complexity oh healthcare services

Question Number : 75 Question Id : 630680700241 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SRIH HRe Yt SR e BT M DI P [T HER Sl QTR B SIS I FT Uehs T A G2
Options :

1. ¥ U8 I NRaH aTclt 3M7ard} & o HaR Sifa Jarsii 9% ugd & ufasfid Hrarg

2. U8 T Ube g1 I U, URFS TR01 H $IR T Udl I & Hee Fal ©

3. % 3P BRI FIR B AHUH S anrd e & et 8

4. ¥ Ug W a1l 31 S 9gd 8

Question Number : 76 Question Id : 630680700242 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Which of the following is a common symptom of kala- azar, a disease targeted by the National Vector Borne Disease Control Programme?
Options :

1. % Cough

2. ¥ Joint Pain

3. ¥ Rash

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 53/73

4/1/24, 3:54 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

4. <7 Persistent fever

Question Number : 76 Question Id : 630680700242 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafeifed & S A1 PTel SR ST T FIHI= T&iv1 8, S I81a Jae S I e srisd g afdd S @2
Options :

1. % @it

2. % W8I P ae

3. % WY

4. </ |IMAR gER el

Question Number : 77 Question Id : 630680700243 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

__is the primary focus of the National Tobacco Control Programme.

Options :

1. ¥ Increasing tobacco consumption

N

. ¥ Marketing tobacco products to children

)

.7 Control and reduce the tobacco consumption

4. ¥ Promote tobacco cultivation

Question Number : 77 Question Id : 630680700243 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Tt e e HRieH o Tl Safig B
Options :
1. % TG 3! ggdl Gud
2. % gl & Q1Y avaTg IdTa] B [AYUH AT
3. TG Haq R 01 AT SR HH AT
4. % qEEH S Wl DI FAI §
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Question Number : 78 Question Id : 630680703440 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As part of a National Health Programme focused on reducing childhood malnutrition, a public health officer is tasked with designing an
intervention. Which of the following strategies would be most effective in addressing this issue?

Options :

1. ¥ Distributing pamphlets on healthy eating habits

2. <7 Implementing a school-based nutrition education program

3. ¥ Conducting awareness campaigns on the importance of exercise

4. ¥ Organizing a community marathon event

Question Number : 78 Question Id : 630680703440 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 79 Question Id : 630680700247 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which stage of the national health planning involves the identification, balancing and ranking of priorities by stakeholders?
Options :

1. ¥ Monitoring and evaluation

. ¥ Programming and implementation

. </ Priority setting

AW

. 9 Resource planning and budgeting
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Question Number : 79 Question Id : 630680700247 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TETa ARy Ao & fob =Run H fRauRe! gr1 wufiidaradt &1 gga™, dga SR ¥ 2nfie g2
Options :

1. % FRE 3R geatad
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3. 7 UIYfiehar A

4. % 1A IS SR dwie

Question Number : 80 Question Id : 630680700328 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

The objective of the National Rural Health Mission is to reduce IMR (Infant Mortality Rate) to live births.
Options :

1. ¥ 10/1000 live births

2. <7 30/1000 live births

3. % 50/1000 live births

4. ¥ 100/1000 live births

Question Number : 80 Question Id : 630680700328 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST Ao aTRy R 1 3R IMR (R HG &) HIUerdR _ Silfdd 1 deb A 8|
Options :

1. ¥ 10/1000 Shifad 4

2. </ 30/1000 Siifad S

3. 8 50/1000 Siifdd S

4. % 100/1000 SHfdd o7

§
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General Knowledge

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 81 Question Id : 630680700341 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the process of osmosis, water molecules move from an area of higher concentration to lower concentration across a selectively permeable
membrane. This phenomenon is most analogous to:

Options :

1. 7 Simple diffusion
2. ¥ Filtering water
3. ¥ Salt dissolution
4

. @ Steam distillation

Question Number : 81 Question Id : 630680700341 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

TRIIRY] 31 il B, U1 & 310] U TS TR f3eeh B I isel a1 & | S Gigal a1 8 &1 iR 9¢d ¢ | I8 ge-1 Jag
3% g & T

Options :

1. & TR fqeRuy
2. % UM BT

3. % qHD HI1Ydld
4. < Y1Y 3T

Question Number : 82 Question Id : 630680700340 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
The concept of Panchayati Raj institutions in India is enshrined in which part of the Constitution?
Options :
1. 7 Part IX
2. 8 Part X
3. % Part XI
4. % Part XII

§

N.A

N.A

N.A

57173

Question Number : 82 Question Id : 630680700340 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR B TRl 3ot S1ait Bt srauRon S F g um & ffga &2
Options :

1. <7 HATIX

2. % YT X

3. % HETXI

4. S YT XIL

Question Number : 83 Question Id : 630680700337 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the government budget, what does the term "fiscal deficit" represent?
Options :

1. ¥ Excess of government expenditure over revenue

2. % Excess of government revenue over expenditure

3. ¥ Total government revenue
4

. ¥ Total government expenditure

Question Number : 83 Question Id : 630680700337 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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WHRY goic & G T, GBI grer Weg 1 =il 32
Options :
1. 7 oA W 3P BRI g B S{fAFHar
2. % Y R PRI IEG D1 e
3. 8 P WBRI AR
4. % P DRI A

Question Number : 84 Question Id : 630680700344 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Narmada River flows through a rift valley between which two mountain ranges?
Options :

.7 Vindhya and Satpura
. ¥ Aravalli and Western Ghats

% Eastern Ghats and Western Ghats

eI

% Satpura and Western Ghats

Question Number : 84 Question Id : 630680700344 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Trier et foreT <t uda el % o T = a1t | giaw ded 82
Options :

1. 7 fdeg 3R Jager

2. % 3Rmaeh SR ufded are

3. % ydf ure oik ufdnft are

4. % gageT iR iyt ure

Question Number : 85 Question Id : 630680700348 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Anushilan Samiti, a revolutionary group during the freedom struggle, was most active in which part of British India?

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 59/73

4/1/24, 3:54 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
Options :
1. ¥ Punjab

.7 Bengal

% Maharashtra

% Madras

ENECIS

Question Number : 85 Question Id : 630680700348 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SrRite WA, WeEar §U & R U SifaeRt g, ™ yRa & fou it & 9a@ o afesa ot

Options :

HoW
©

Skill Based
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 86 Question Id : 630680700044 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the steps involved in measuring blood pressure correctly.

1. Place the stethoscope over the brachial artery

2. Inflate the blood pressure cuff to a level above the expected systolic pressure

3. Release the pressure in the cuff slowly

4. Note the point at which the first sound is heard (systolic) and the point at which the sound disappears (diastolic)
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Options :
1.v2,1,3,4
2.91,2,3,4
3.+ 3,4,2,1
4.9 4,3,2,1

o

Question Number : 86 Question Id : 630680700044 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST Bl A B WA TR0 B el Rl § Hafyd B
1.IRYITH (CYRDIY) Bl 915 YH B SR 9

2. XA S Bl SOMET RIS a1 9 SR S WR db Hed
3. %% H e dR-dR B

4. 39 fiig &1 &ol Y oy R ugelt &af g Teft B (Rreiferas) <iR ag foig o R eafa g &) ol § (Sraeiferas)
Options :

1.2,1,3,4

2.%1,2,3,4

3.93,4,2,1

4.%4,3,2,1

Question Number : 87 Question Id : 630680700068 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the given below image.
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Options :

1. 7 Sahli’s Heamoglobinometer

©

sphygmomanometer

$

b

2
3. ¥ Thermometer
4

Nebulizer

Question Number : 87 Question Id : 630680700068 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 & 7S B B ugAH BY
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Options :

1. </ HgIerg &I gHHreis e
2. % YqderaHTd

3. % yHfHeY

4. & AGATR

Question Number : 88 Question Id : 630680700053 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the steps in the correct order for performing a running suture on long, straight wounds.

s

Options :

1. <7 DBEAFC
2. ¥ ABCDEF
3. ¥ DEDFAC
4

. ¥ DABCEF

©

§
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Question Number : 88 Question Id : 630680700053 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T, 1Y urdl W Taq arelt Wead FA & fore IRl &1 Ul vH H orafud S¥

s

Options :

.7 DBEAFC
. ¥ ABCDEF
. ¥ DEDFAC
. ¥ DABCEF

FNERC I )

Question Number : 89 Question Id : 630680700063 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
Organize the steps in the accurate sequence for the placement of a PPIUCD.

5

Options :
1.7 ABC
2. % CBA
3. ¥ ACB
4

>

. % BCA

Question Number : 89 Question Id : 630680700063 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PPIUCD TRTIF & foTQ TRl &1 Ut o H ooafeyd &
b

Options :
1./ ABC
2. % CBA
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3. % ACB
4. % BCA

Question Number : 90 Question Id : 630680700047 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the steps for a Rapid Diagnostic Test (RDT) for HIV in the correct order:

A. Apply the patient's blood to the test strip

B. Wait for the specified time

C. Observe the test lines for HIV antibodies

D. Add a buffer solution to the sample well

Options :

1./ ADBC

2. ¥ DACB
3. « CDAB
4

CDBA

©

o

Question Number : 90 Question Id : 630680700047 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIV & ¥ fis Sriifes & (RDT) & =R &1 Tel 35H 7 ogafeyd o3
A. 7T & ¥ DY aleor ug! W amg

B. A&y T ao uchen &%

C. HIV UlaRelt & e adieur g 1 Fdamn 6

D. A T T %R ©id Siis

Options :

1. </ ADBC

2. ¥ DACB

3. ¥ CDAB

4. ¥ CDBA

Question Number : 91 Question Id : 630680700052 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Identify the given below image.

[
Options :

1. ¥ Nasogastric tube
2. 7 Nebulizer
3. ¥ Glucose monitor

4. ¥ Oxygen mask

Question Number : 91 Question Id : 630680700052 Ts Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

H S B 1 vgEAH B

L

Options :

1. 8 RS Tl
2.V ARIEIR

3. ¥ TpIel A
4. % HiGHIeH U

Question Number : 92 Question Id : 630680700059 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mrs. Rodriguez, a 28-year-old woman at 40 weeks of gestation, arrives at the maternity unit with contractions. As part of the initial assessment,
the healthcare provider decides to perform a per vaginal examination (PVE). During the examination, the cervix is found to be 3 centimeters
dilated and 70% effaced. Fetal station is at -1. What is the most appropriate interpretation of these findings?

Options :
1. &/ Mrs. Rodriguez is in early labor
2. 9 Mrs. Rodriguez is in active labor

P . . . . -
3. ¥ Mrs. Rodriguez is not in labor; these findings are within the normal range for a full-term pregnanc
t=3 o

4.

&

Mrs. Rodriguez is expericncing a false labor
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Question Number : 92 Question Id : 630680700059 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

it AfgT, T 28 aifa Afger, 40 Tars o THiaR B, YHa & W Ufa 3Ts O ST 8 | URINS Sida & UM & T4 H, W a1
T v A TRt (pvI) R &1 Fofg At 81 ST & SR, iR iar 3 SHeR Wl g3 SR 70% Rehfia oS w1 Sed RIA -1 R
31 37 Freep s Bt T SUged e T g?

Options :

1. il AT 9 § vgd yad dieT H g

2. % sfimed A wltpa yma e # ¥

3. o Mg ua et & LY ¥, A e qof srafdr &t e 3 fore arg e & 4R §

4. % gy AT S vra e BT 3Ha R QN 8

Question Number : 93 Question Id : 630680700060 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :
Correct Marks : 1 Wrong Marks :

Match the components of Kangaroo Mother Care (KMC) with their corresponding benefits:

Components: Benefits:
1. Skin-to-Skin Contact A. Regulation of Baby's Body Temperature

19

. Exclusive Breastfeeding | B. Promotion of Bonding and Attachment

3. Supportive Environment | C. Enhanced Maternal Milk Production

Options :

1. 8 2-A, 1-B, 3-C
2.7 1-A,2-B, 3-C
3. % 3-A,2-B, 1-C
4.9 1-C,2-A,3-B

Question Number : 93 Question Id : 630680700060 Is Question Mandatery : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
L
Options :
1. ¥ 2-A, 1-B, 3-C
2. 1-A,2-B,3-C
3. ¥ 3-A,2-B, 1-C
4. % 1-C, 2-A, 3-B

Question Number : 94 Question Id : 630680700069 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A 26-ycar-old primigravida at 39 weeks of gestation presents to the labor and delivery unit with regular contractions and cervical dilation of 4 cm.
The obstetric team observes the progression of labor through various stages. After reaching full cervical dilation, the patient enters the second
stage of labor. During this stage, she experiences the urge to push, and fetal descent occurs. Subsequently, the third stage of labor begins, marked
by the delivery of the placenta. To monitor the uterine contractions and fetal heart rate during labor, the obstetric team utilizes a Partograph, a
device that plots these parameters on a graph.

Which of the following sequences accurately represents the stages of labor described for this patient, including the use of Partograph plotting?
Options :

1. ¥ Iststage, 2nd stage, Pantograph plotting, 3rd stage

2. <7 st stage, Pantograph plotting, 2nd stage, 3rd stage

3. ¥ Pantograph plotting, Ist stage, 2nd stage, 3rd stage
4

. % Iststage, 2nd stage, 3rd stage, Pantograph plotting

Question Number : 94 Question Id : 630680700069 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U& 26 AW UISHRITST, 39 WTs &1 THiaR & Frafid e SR 4 om & Tz Har thad & i e ofR fSeiadt som 7 ol 81
T 1 Al =Rl % Trean § Ud &t O 1 e ] 81 gof iR War therd 96 ugen & a1e, I T o g TR0 B Ay
FRAT § 1 3 TRUT P SR, S YGDT G D 5T BT STHT BT 5, STR YT BT TR0 Gl & | TP S, TRId BT ARRT ORUT IR GIT §, S
Qe S TG gRI IR g1dT 8 1 59 Taie & SR THRE & Agrer 3R yOr 1 ged Tid B FTRE 537 R, e & v

T T SUANT 6l 8, Th SUHRU ol 34 HTUGS] Bl U AMH WR @ie a5 |

fafafad & 9 oF 1 w9 e witeT & IudiT afed 9 A & fore afdfa ura & =Rl o1 Udie & J ufafafia s e?
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Options :
1. % 191 =R, 237 °R0T, YV wife, 3371 =Ry
2. < 11 IR, YT WS, 231 TROT, 337 TR
3. % YEIUT® WITeT, 1T TROT, 237 °R0T, 337 =07
4. % 17RO, 2371 TROT, 337 TR0T, YU ife,

§

Question Number : 95 Question Id : 630680700070 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(B

Options :

1.7 1-B, 2-C, 3-A

2. 8 1-A,2-B, 3-C

3.« 1-C,2-A,3-B

4. % 1-B, 2-A,3-C

©

©

Question Number : 95 Question Id : 630680700070 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[

Options :

1.7 1-B, 2-C, 3-A

2. ¥ 1-A,2-B, 3-C

3.9 1-C,2-A,3-B

4. ¥ 1-B, 2-A, 3-C

b

Analytical and Communication Skills

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 96 Question Id : 630680699727 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to the first word.
Protractor : Angle :: Scale : ?

Options :

1. ¥ arc

2. % diameter
3. ¥ scctor
4. < length

Question Number : 96 Question Id : 630680699727 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I fadhcd &1 999 $X S IR eg I I TR  Hafia 3 o TR & T Isg U8 W 3§ Eid B
T'«ﬁ'a"f:37‘]'[”::?%:?

Options :

1. % dg

2.8 N

3. % Fods

4. QAR

Question Number : 97 Question Id : 630680699729 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Anmit says, "Priti's brother is the only son of my father." How is Priti related to Amit?
Options :

1. <7 Sister

2. % Mother

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 70/73

Page 35



4/1/24, 3:54 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
3. ¥ Daughter
4. ¥ Wife

Question Number : 97 Question Id : 630680699729 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT Bl 5, "W 1 U1S TR a1 o1 3enar g ¢ 1 Wiy oiffyd & 9 daifia g2
Options :

L Va8

2. % Hdl
3.2 R
4. % Uell

Question Number : 98 Question Id : 630680699728 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Five friends Ram, Sam, Pam, Ham and Jam are sitting in a row facing north. Ram sits exactly between Pam and Jam. No one sits to the left of
Sam. Three people sit between Sam and Pam. Who sits to the immediate left of Jam?

Options :
1.+ Ham
2. % Sam
3. % Pam
4. ¥ Ram

Question Number : 98 Question Id : 630680699728 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ot i 3w, 3, O, 8 oIk S SR 1 SR 4 e U Ufad 95 &1 I, U SR oI & diep sl # 961 ¢ 1 99 & ol 3R b1 161
318 | A TR UH & oftd ol <1 93 €1 S b Jieb Sl 3R b1 3T 62

Options :

L0

2. %80
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340

4. %M

Question Number : 99 Question Id : 630680699253 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following pairs is correct with respect to formal communication?

Options :

1. ¢ Origin: Deliberatel Structured

. % Form: Usually Oral

2
3. % Accuracy: Often Disorted, may be rumors and gossips.
4

°

Flow: Unofficial Channels

Question Number : 99 Question Id : 630680699253 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following pairs is correct with respect to formal communication?
Options :

1. <7 Origin: Deliberatel Structured

2. % Form: Usually Oral

3. ¥ Accuracy: Often Disorted, may be rumors and gossips.

4. ¥ Flow: Unofficial Channels

Question Number : 100 Question Id : 630680699248 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which one is spelt correctly. Choose the correctly spelt word
Options :

1. ¥ DETEORIATE

2. ¥ ANHEILATE

3. < CHICANERY

4. ¥ TRICKRY
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Question Number : 100 Question Id : 630680699248 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which one is spelt correctly. Choose the correctly spelt word
Options :

. % DETEORIATE

. ¥ ANHEILATE

./ CHICANERY

. % TRICKRY

E NI )
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